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/] RS AR

int service c::genpath(char* filepath) const {
/] MAFAE B A2 2R H A L4 H — A7 25 A5
srand (time (NULL) ) ;
int nspaths = g spaths. size() ;
int nrand = rand() % nspaths;
std::string spath = g spaths[nrand];

/] VAA7AE A5 98 MID IR 55 28 3R HX 5 2 6 N ELAE N SCAFID
id ¢ 1id;
long fileid = id. get(spath.c _str());
if (fileid < 0)
return ERROR;

/] S SCAFID #5123t i, AR E AR O B A%
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return id2path(spath.c str(), id512(fileid), filepath);
}

/] ¥ \DEE 45 Ny 5123 1|
long service c::1d512(long id) const {
long result = 0;

for (int i = 1; id; i *= 1000) {
result += (id % 512) * 1i;
id /= 512;

}

return result;
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/] RSO DA B g A%

int service c::id2path(char const* spath, long fileid,
char* filepath) const {

/] T EAT

fifi B8 A%

if (!spath || !strlen(spath)) {
logger error (“storage path is null”);
return ERROR;

}

/1 L RO B AR A 25458

unsigned
unsigned
unsigned
time t

unsigned

short
short
short

short

subdirl
subdir?2
subdir3
curtime
postfix

inmn mn nn d\

Al

(fileid / 1000000000) % 1000; // —Z%+ H=¢

(fileid / 1000000) % 1000;

(fileid / 1000) % 1000:
time (NULL) :
(fileid / 1) % 1000;

/] =T H %
[l =21 Hx
// ZHTI )k
B SAEAEE
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[/ 48 AL 5E B 1) A AR
if (spath[strlen(spath)-1] == "/")
snprintf (filepath, PATH MAX + 1, “%s%03X/%03X/%03X/%1%X %03X”,
spath, subdirl, subdir2, subdir3, curtime, postfix);

else
snprintf (filepath, PATH MAX + 1, “%s/%03X/%03X/%03X/%1X %03X”,
spath, subdirl, subdir2, subdir3, curtime, postfix);
return OK;
}
/] BV FEARAE A

int service c::save(acl::socket stream¥ conn, char const¥ appid,
char const* userid, char const* fileid, long long filesize,
char const* filepath) const {
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file ¢ file; // CH-HE/EXT %

/] FTH A
if (file.open(filepath, file c::0 WRITE) != OK)
return ERROR;

/] I B B ) B B 5 NS
long long remain = filesize; // RN F T2
char rcvwr[STORAGE RCVWR SIZE]; // H25 NZEmX
while (remain) { // &8 AEEIE
/] BUSCE

long long bytes
long long count
if (count < 0) {

logger error(“read fail: %s, bytes: %lld, from: %s”,

conn—>read (rcvwr, bytes) ;

std: :min(remain, (long long)sizeof (rcvwr)) ;
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acl::last serror(), bytes, conn—>get peer());
file.close();
return SOCKET ERROR;
}
/] BN
if (file.write(rcvwr, count) != 0K) {
file.close();
return ERROR;

}
/] AN ek
remain —= count;
}
/] R SCAF

file.close();
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db_c db; // ZdEEV R X S

/] EREE
if (db. connect() != OK)
return ERROR;

/] BB SCAFIDRN AR N RN R B 9 27

if (db. set(appid, userid, fileid, filepath, filesize) != O0K) {
error (conn, —1, “insert database fail, fileid: %s”, fileid);
file. del (filepath) ;
return ERROR;

}

return OK;
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/] BRI AR ST
int service c::send(acl::socket stream* conn, char const* filepath,
long long offset, long long size) const {

file ¢ file; // CHHE/EXT %

/] FTH A
if (file.open(filepath, file c::0 READ) != OK)
return ERROR;

/] W E W%

if (offset && file. seek(offset) != 0K) {
file.close();
return ERROR;
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/] BT | i & PIRAS | SXHF N |

//1 8 | 1] 1|ANEKND

RTINS

long long bodylen = size;

long long headlen = HEADLEN;

char headl[headlen] = {};

11ton(bodylen, head);

head[BODYLEN SIZE] = CMD STORAGE REPLY;
head [BODYLEN STZE+COMMAND STZE] = 0;

/] FIENA N Sk
if (conn—>write(head, headlen) < 0) {
logger error ("write fail: %s, headlen: %11d, to: %s”,

acl::last serror(), headlen, conn—>get peer());
file.close();
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return SOCKET ERROR;
J

/] RIS A Ao i3z B ) 250 B DR i 7 A 1) — 350 43 A3k HY 2%
long long remain = size; // ARTEHUFETIEL
char rdsnd[STORAGE RDSND STZE]; // BEHUR 1% %% M [X
while (remain) { // A7 ARELHUEHE
/] BEEUCCA
long long count = std::min(remain, (long long)sizeof (rdsnd));
if (file.read(rdsnd, count) != OK) {
file.close();
return ERROR;
}
/] KIEE
if (conn—>write(rdsnd, count) < 0) {
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logger error("write fail: %s, count: %l1d, to: %s”,

acl::last serror(), count, conn—>get peer());

file.close();
return SOCKET ERROR;

}
/] ARV
remain —= count;
}
/] R SCAF

file.close();

return OK;
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N IV
/1 DL )

bool service c::ok(acl::socket stream¥ conn) const {
/] B | fr 2 PIRAS |
/8 | 1] 1]
// K635 i
long long bodylen = 0;
long long resplen = HEADLEN + bodylen;
char respl[resplen] = {};
11ton(bodylen, resp);
resp[BODYLEN STZE] = CMD STORAGE REPLY;
resp [BODYLEN STZE+COMMAND STIZE] = 0;
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/] IR N
if (conn—>write(resp, resplen) < 0) {
logger error ("write fail: %s, resplen: %l1d, to: %s”,

acl::last serror(), resplen, conn—>get peer());
return false;

}
return true;
}
/] DA 1R
bool service c::error(acl::socket stream* conn, short errnumb,
char const* format, ...) const {
RS

char errdesc[ERROR DESC SIZE];
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va list ap;

va start(ap, format) ;

vsnprintf (errdesc, ERROR DESC SIZE, format, ap);
va_end (ap) ;

logger error ("%s”, errdesc);

acl::string desc;

desc. format (" [%s] %s”, g hostname.c str(), errdesc):;

memset (errdesc, 0, sizeof (errdesc));

strncpy (errdesc, desc.c str(), ERROR DESC SIZE - 1);

size t desclen = strlen(errdesc) ;
desclen += desclen != 0:

/] VEARKE | a4 PR | AR5 | S5 1R IR |
// | 8 | 1] 1] 2 | <=1024 |
[/ Ko 3 e [N
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long long bodylen = ERROR NUMB SIZE + desclen;
long long resplen = HEADLEN + bodylen;
char resplresplen] = {};
11ton(bodylen, resp);
resp[BODYLEN STZE] = CMD STORAGE REPLY;
resp[BODYLEN STZE+COMMAND STZE] = STATUS ERROR;
ston (errnumb, resp + HEADLEN) ;
if (desclen)
strepy (resp + HEADLEN + ERROR NUMB SIZE, errdesc);

/] R IE M B
if (conn—>write(resp, resplen) < 0) {
logger error (“write fail: %s, resplen: %l1d, to: %s”,
acl::last serror(), resplen, conn—->get peer()):
return false;

}

return true;
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/] AF AR S5 A%
/1 7 ERIER S P HLERE S
//

#pragma once

#include <1ib acl. hpp»
//
/] BRERZ P LGRS
//
class tracker c: public acl::thread {
public:
/] Fa)id R 2

tracker c(char const* taddr);

/] ZIEEFR
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void stop(void):

protected:
/] BRI

void* run(void) :

private:
/] T EREF R 55 4 RIE NN AL
int join(acl::socket stream¥ conn) const;
/] T EREF R 55 4 R IE O kL

int beat(acl::socket stream¥ conn) const;

bool m_stop; //m#ik
acl::string m taddr; // EREERSS#EHEHE
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/] 17 R 55 75

/] SEILERIER 25 AL LR FE R
//

#include <unistd. h>
#include 02 proto.h”
#include “03 util.h”
#tinclude 01 globals.h”
#tinclude “13 tracker.h”

/] F43E BRI AL

tracker c::tracker c(char const* taddr) :

}
E N7

void tracker c::stop(void) {

m stop(false), m taddr(taddr) {
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m stop = true;

}

/] LR
void¥ tracker c::run(void) {
acl::socket stream conn;

while (!m_stop) {
/] ERL R B AR S A
if (!conn.open(m taddr, 10, 30)) {
logger error(“connect tracker fail, taddr: %s”,
m taddr.c str());
sleep(2);

continue; // R E %
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// TR R IR 55 4% R IE NN

if (join(&conn) != 0K) {
conn. close () ;
sleep (2);

continue; // R E %
}

time t last = time (NULL) ; // BBk
while (!m_stop) {
time t now = time (NULL); // HlfE
/] OAEE PO EkE 28 A, FEik—IX
if (now — last >= cfg interval) f{
[/ TR R IR 55 a8 A IX Ok B
if (beat (&conn) != OK)
break; // RN H %

Teducn

AAHE




Teducn

AAHE

TNV/src/04 storage/14 tracker.cpp

last = now;

}
sleep(1);
}
conn. close () ;
}
return NULL;

}
// T ERER A 554 AOE M

int tracker c::join(acl::socket stream¥ conn) const {
/] | BEARK S | T4 | IR4 | storage_join_body_t|
//] 8 | 1] 1] BHEKE |
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/] Mg TE R

long long bodylen = sizeof (storage join body t);
long long requlen = HEADLEN + bodylen;

char requl[requlen] = {};

11ton(bodylen, requ);

requ[BODYLEN SIZE] = CMD TRACKER JOIN;
requ[BODYLEN STZE+COMMAND SIZE] = 0;

storage join body t#% sjb = (storage join body t*) (requ + HEADLEN) ;

strepy (sjb—>sjb version, g version); /] B
strcpy (sjb—>sjb groupname, cfg gpname) ; /] B4
strepy (sjb—>sjb hostname, g hostname.c str()); // EHL%
ston(cfg bindport, sjb—>sjb port); // i =
lton(g stime, sjb—>sjb stime) ; // J& B} [a]
1ton (time (NULL), sjb->sjb jtime); /] TN (]
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/] RIEVER
if (conn—>write(requ, requlen) < 0) {
logger error ("write fail: %s, requlen: %lld, to: %s”,

acl::last serror(), requlen, conn—>get peer());
return SOCKET ERROR;

}

RS
char head[HEADLEN] ;

if (conn—>read(head, HEADLEN) < 0) {
logger error(“read fail: %s, from: %s”,

acl::last serror(), conn—>get peer());
return SOCKET ERROR;
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/] | EARKEE | a2 IRES |
// | 8 | 1| 1]
// RSk

if ((bodylen = ntoll(head)) < 0) { // QLK E

logger error(“invalid body length: %11d < 07,

return ERROR;
}

int command = head[BODYLEN SIZE]; // 7%
int status = head[BODYLEN STZE+COMMAND SIZE]; //iRZE
logger ("bodylen: %11d, command: %d, status: %d”,

bodylen, command, status);

R SRR
if (command != CMD TRACKER REPLY) {

”
logger error (“unknown command:

%d”, command) ;

bodylen) ;
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return ERROR;
}

/1 DL )

if (!status) return OK;

/] VEARKE | & IR | B R T | #E 1R IA |

// | 8 | 1| 1] 2 | <=1024 |

/] KB AR K B

long long expected = ERROR NUMB SIZE + ERROR DESC SIZE;

if (bodylen > expected) {
logger error(“invalid body length: %I1d > %11d”, bodylen, expected):;
return ERROR;
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/] R AR
char body[bodylen];

if (conn—>read(body, bodylen) < 0) {
logger error(“read fail: %s, bodylen: %I11d, from: %s”,

acl::last serror(), bodylen, conn—>get peer());
return SOCKET ERROR;

}
/1 FERT AL

short errnumb = ntos (body) ;
char const* errdesc = 77;
if (bodylen > ERROR NUMB SIZE)
errdesc = body + ERROR NUMB SIZE;

”

logger error(”join fail, errnumb: %d, errdesc: %s”,



b4
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errnumb, errdesc) ;
return ERROR;
}

[/ TR R IR 55 a8 R IX Ok B

int tracker c::beat(acl::socket stream¥ conn) const {
/] | AR | 2 | IR 4 | storage_beat_body _t|
/[l 8 | 1| 1| BHAEKE |
/] W& R
long long bodylen = sizeof (storage beat body t);
long long requlen = HEADLEN + bodylen;
char requl[requlen] = {};
11ton(bodylen, requ);
requ[BODYLEN STZE] = CMD TRACKER BEAT;
requ[BODYLEN STZE+COMMAND SIZE] = 0;
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storage beat body t% sbb = (storage beat body t*) (requ + HEADLEN) ;
strcpy (sbb—>sbb groupname, cfg gpname) ; /] B4
strcpy (sbb—>sbb hostname, g hostname.c str()); // EHL%

/] RIEVE R
if (conn—>write(requ, requlen) < 0) {
logger error ("write fail: %s, requlen: %lld, to: %s”,

acl::last serror(), requlen, conn—>get peer());
return SOCKET ERROR;

}

RV
char head[HEADLEN] ;

if (conn—>read(head, HEADLEN) < 0) {
logger error(“read fail: %s, from: %s”,
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acl::last serror(), conn—>get peer());
return SOCKET ERROR;
}

/] | EEKE | 74 IR

/8 | 1] 1]

/] R Ak

if ((bodylen = ntoll(head)) < 0) { // QLK E

logger error(“invalid body length: %11d < 07, bodylen) ;

return ERROR;

}
int command = head[BODYLEN SIZE]; // %

int status = head[BODYLEN STZE+COMMAND SIZE];: //iRE
logger ("bodylen: %11d, command: %d, status: %d”,
bodylen, command, status);
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/] KB4

if (command != CMD TRACKER REPLY) {
logger error (“unknown command: %d”, command) ;
return ERROR;

}
/1 N R

if (!status) return OK;

/] |EEKE |4 RS #5125 | R FA |
/708 | 1] 1] 2 | <=1024 |
/] T & AR B
long long expected = ERROR NUMB SIZE + ERROR DESC SIZE;
if (bodylen > expected) {
logger error(“invalid body length: %I1d > %11d”,
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bodylen, expected):
return ERROR;
}

/] B AR
char body[bodylen];
if (conn—>read(body, bodylen) < 0) {
logger error (“read fail: %s, bodylen: %l1d, from: %s”,

acl::last serror(), bodylen, conn—>get peer());
return SOCKET ERROR;

}
/] fEST R

short errnumb = ntos(body) ;
char const* errdesc = 77;

if (bodylen > ERROR NUMB SIZE)
errdesc = body + ERROR NUMB SIZE;

logger error (“beat fail, errnumb: %d, errdesc: %s”, errnumb, errdesc);
return ERROR;
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